



Song-Yue Yu and Baoqiang Yan *

School of Mathematics and Statistics, Shandong Normal University, Jinan 250014, China; ysysongyue@163.com * Correspondence: yanbqcn@aliyun.com

Abstract: In this paper, the thermal explosion model described by a nonlinear boundary value problem is studied. Firstly, we prove the comparison principle under nonlinear boundary conditions. Secondly, using the sub-super solution theorem, we prove the existence of a positive solution for the case K(x) > 0, as well as the monotonicity of the maximal solution on parameter λ . Thirdly, the uniqueness of the solution for K(x) < 0 is proved, as well as the monotonicity of the solutions on parameter λ . Finally, we obtain some new results for the existence of solutions, and the dependence on the λ for the case K(x) is sign-changing.

Keywords: model of thermal explosion; uniqueness; subsolution and supersolution; the comparison principle

1. Introduction

In this paper, we study the following problem

$$\begin{cases} -\triangle u + K(x)u^{-\alpha} = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ \boldsymbol{n} \cdot \nabla u + g(u)u = 0, & \text{on } \partial \Omega, \end{cases}$$
(1)

where the constant $\alpha \in (0, 1)$, $p \in (0, 1)$, $g : [0, \infty) \to (0, \infty)$ is a nondecreasing C^1 function, Ω is a bounded domain in \mathbb{R}^2 with smooth boundary $\partial \Omega$, and $\lambda > 0$ is a parameter.

The problem (1) is related to the stationary analogue of the equation

$$\begin{cases} u_t - \Delta u = f(t, x), & (t, x) \in (0, T) \times \Omega, \\ \mathbf{n} \cdot \nabla u + g(u)u = 0, & (t, x) \in (0, T) \times \partial \Omega, \\ u(0, x) = u_0, & x \in \Omega, \end{cases}$$
(2)

which is a classical problem of combustion theory, see [1–4]. Here, *u* is the appropriately scaled temperature in a bounded smooth domain Ω in \mathbb{R}^2 , and f(t, x) is the normalized reaction rate.

In [2], Gordon, Ko and Shivaji considered the following problem

$$\begin{cases}
-\Delta u = \lambda f(u), & \text{in } \Omega, \\
u > 0, & \text{in } \Omega, \\
n \cdot \nabla u + g(u)u = 0, & \text{on } \partial\Omega,
\end{cases}$$
(3)

using the method of sub-supersolutions by which they showed that the solution of this problem is unique for large and small values of parameter λ , whereas for intermediate values of λ , solutions are multiple, provided that the nonlinear term f satisfies

Hypothesis 1 (H1). $f : [0, +\infty) \to (0, +\infty)$ is a C^1 nondecreasing function, and

check for updates

Citation: Yu, S.-Y.; Yan, B. Positive Solutions for a Singular Elliptic Equation Arising in a Theory of Thermal Explosion. *Mathematics* **2021**, *9*, 2173. https://doi.org/10.3390/ math9172173

Academic Editor: Andrey Amosov

Received: 7 August 2021 Accepted: 2 September 2021 Published: 6 September 2021

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2021 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). Hypothesis 2 (H2). $\lim_{s \to +\infty} \frac{f(s)}{s} = 0.$

Using variational methods (see [5]), Ko and Prashanth considered the following problem

 $\begin{cases} -\triangle u = \lambda e^{u^{\alpha}}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = 0, & \text{on } \partial\Omega, \end{cases}$ (4)

and showed that there exists $0 < \Lambda < +\infty$, and that the problem (5) has at least two positive solutions if $0 < \lambda < \Lambda$, no solution if $\lambda > \Lambda$, and at least one positive solution when $\lambda = \Lambda$. In [6], Rasouli considered the following system

$$\begin{cases}
-\Delta u = \lambda f(v), & \text{in } \Omega, \\
-\Delta v = \lambda g(u), & \text{in } \Omega, \\
u > 0, & \text{in } \Omega, \\
v > 0, & \text{in } \Omega, \\
v > 0, & \text{in } \Omega, \\
n \cdot \nabla u + a(u)u = 0, & \text{on } \partial\Omega, \\
n \cdot \nabla v + b(v)v = 0, & \text{on } \partial\Omega,
\end{cases}$$
(5)

and established some existence and multiplicity results via the method of sub-supersolutions if nonlinearity f and g satisfies

Hypothesis 3 (H3). $f, g: [0, +\infty) \rightarrow (0, +\infty)$ are nondecreasing function, and

Hypothesis 4 (H4). $\lim_{s \to +\infty} \frac{f(Ag(s))}{s} = 0$ for all A > 0.

Another interesting work comes from [7], in which Shi and Yao considered the following problem

$$\begin{cases} -\Delta u + K(x)u^{-\alpha} = \lambda u^{p}, & \text{in }\Omega, \\ u > 0, & \text{in }\Omega, \\ u = 0, & \text{on }\partial\Omega, \end{cases}$$
(6)

and obtained the existence, uniqueness, regularity and the dependency on parameters of the positive solutions under various assumptions for K(x).

Notice that the condition that nonlinearity f (or f and g) is nondecreasing is very important in [2,5,6]. However, in [7], $f(x, u) = -K(x)u^{-\alpha} + \lambda u^p$ is nonlinear and lacks monotonicity as regards u. One natural question is whether problem (1) (note $f(x, u) = -K(x)u^{-\alpha} + \lambda u^p$) has the existence, as well as the uniqueness and the dependency, on parameters of the positive solutions under various assumptions for K(x). This paper is devoted to answering the above question.

Throughout this paper, we always assume that $K \in C^{2,\beta}(\overline{\Omega})$ and the heat-loss parameter g(u) satisfies the following hypothesis:

Hypothesis 5 (H5). $g : [0,\infty) \to (0,\infty)$ is a $C^{1,\beta}$ nondecreasing bounded function with $\beta \in (0,1)$ and satisfies

$$\inf_{u \in [0, +\infty)} g(u) = g(0) = g_0 > 0.$$

Here, $C^{1,\beta}$ means that, for any x, y satisfies $|g'(x) - g'(y)| \le C|x - y|^{\beta}$.

The rest of the paper is organized as follows. In Section 2, we cite some lemmas. Due to the change of boundary conditions in the process of the citation, some theorems cannot

be directly cited, so we provide the proof of this part of lemma. In Section 3, we record the conclusions of the paper and provide the relevant proofs.

2. Preliminaries

In this section, we will list and prove some lemmas. In order to obtain our results, we consider the following problems

$$\begin{cases} -\triangle u = f(x, u), & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = 0, & \text{on } \partial\Omega, \end{cases}$$
(7)

where Ω is a bounded domain in $\mathbb{R}^N (N \ge 2)$, *g* is satisfying (H5).

The definitions of the sub-supersolutions of problem (7) are listed as follows.

Definition 1. $\overline{\Omega}$ *is the closure of the set* Ω *. A function* $\overline{u} : \overline{\Omega} \to \mathbb{R}$ *is called a supersolution of problem* (7) *if* $\overline{u} \in C^2(\Omega) \cap C^1(\overline{\Omega})$ *and*

$$\begin{cases} -\triangle u \ge f(x, u), & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u \ge 0, & \text{on } \partial \Omega. \end{cases}$$
(8)

Definition 2. A function $\underline{u}: \overline{\Omega} \to \mathbb{R}$ is called a subsolution of (7) if $\underline{u} \in C^2(\Omega) \cap C^1(\overline{\Omega})$ and

$$\begin{cases} -\triangle u \le f(x,u), & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u \le 0, & \text{on } \partial\Omega. \end{cases}$$
(9)

Now, we point out the following lemma.

Lemma 1 ([8]). Assume f is continuous on $\overline{\Omega} \times \mathbb{R}$, $\frac{\partial f}{\partial u}$ is continuous and g satisfies condition (H5). If \underline{u} is a subsolution and \overline{u} is a supersolution of problem (7) with $\underline{u} \leq \overline{u}$, then the problem (7) has at least one solution u in the order interval

$$\underline{u} \leq u \leq \overline{u}, \quad on \ \Omega.$$

Moreover, problem (7) has a minimal solution u_{\min} and a maximal u_{\max} in $[\underline{u}, \overline{u}]$.

In order to compare the supersolution and subsolution more conveniently, we list the following lemmas.

Lemma 2. Let $w_1, w_2 \in C^{2,\beta}(\Omega) \cap C^{1,\beta}(\overline{\Omega})$ satisfy $-\Delta w_1 \leq -\Delta w_2$, in $\Omega, \mathbf{n} \cdot \nabla w_1 + g(w_1)w_1 \leq \mathbf{n} \cdot \nabla w_2 + g(w_2)w_2$, on $\partial\Omega$. Then, $w_1 \leq w_2$ in $\overline{\Omega}$.

Lemma 3. Let $f : \overline{\Omega} \times (0, \infty) \to \mathbb{R}$ be a continuous function such that $\frac{f(x,s)}{s}$ is strictly decreasing for $s \in (0,\infty)$ at each $x \in \Omega$. Let $w, v \in \overline{u} \in C^2(\Omega) \cap C^1(\overline{\Omega})$ satisfy:

(a) $\triangle w + f(x, w) \le 0 \le \triangle v + f(x, v)$ in Ω ;

(b) w, v > 0 in Ω and $\mathbf{n} \cdot \nabla v + g(v)v \le c \le \mathbf{n} \cdot \nabla w + g(w)w$, on $\partial \Omega$ where c is a nonnegative constant;

(c) $\triangle v \in L^1(\Omega)$.

Then, $v(x) \leq w(x)$ in Ω . If one " \leq " in the above condition (a) is replaced by "<", we have v(x) < w(x) for all $x \in \Omega$.

Proof of Lemma 3. We prove this lemma by contradiction. If $v \le w$ is not true, then there exist ε_0 , $\delta_0 > 0$ and a ball $B \subset \subset \Omega$ such that

$$v(x) - w(x) > \varepsilon_0, x \in B$$

and

$$\int_{B} vw \left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v} \right) dx > \delta_{0}.$$
(10)

Here, $\subset \subset$ means strict inclusion. We know that $\frac{f(x,w)}{w} - \frac{f(x,v)}{v}$ because $\frac{f(x,s)}{s}$ is strictly decreasing. Due to w, v > 0 in Ω , it is true to obtain (10).

Let

$$M = \max\left\{1, \left\| \bigtriangleup v \right\|_{L^1(\Omega)}\right\}$$

and

$$\varepsilon = \min\left\{1, \ \varepsilon_0, \ \frac{\delta_0}{4M}\right\}$$

Let ψ be a smooth function on \mathbb{R} such that $\psi(t) = 0$ if $t \leq \frac{1}{2}$, $\psi(t) = 1$ if $t \geq 1$, $\psi(t) \in (0,1)$ if $t \in (\frac{1}{2}, 1)$ and $\psi'(t) \geq 0$ for $t \in \mathbb{R}$. For $\varepsilon > 0$, we define the function $\psi_{\varepsilon}(t)$ by

$$\psi_{arepsilon}(t)=\psiig(rac{t}{arepsilon}ig),\quad t\in\mathbb{R}.$$

It then follows from (*a*) and the fact that $\psi_{\varepsilon}(t) \ge 0$ for $t \in \mathbb{R}$ that

$$(w \triangle v - v \triangle w)\psi_{\varepsilon}(v - w) \ge vw\left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v}\right)\psi_{\varepsilon}(v - w), \quad \text{in } \Omega.$$

By the continuity of w, v and ψ_{ε} , set up a subdomain Ω^*

$$\Omega^* = \{x | v(x) > w(x), x \in \Omega\},\$$

with a smooth boundary. It is easy to see that $vw\left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v}\right) > 0$, in Ω^*/B .

Therefore,

$$\int_{\Omega^{*}} (w \Delta v - v \Delta w) \psi_{\varepsilon}(v - w) dx$$

$$\geq \int_{\Omega^{*}} (w(-f(x,v)) + vf(x,w)) \psi_{\varepsilon}(v - w) dx$$

$$= \int_{\Omega^{*}} wv \left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v} \right) \psi_{\varepsilon}(v - w) dx$$

$$= \int_{\Omega^{*}/B} wv \left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v} \right) \psi_{\varepsilon}(v - w) dx$$

$$+ \int_{B} wv \left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v} \right) \psi_{\varepsilon}(v - w) dx$$

$$\geq \int_{B} wv \left(\frac{f(x,w)}{w} - \frac{f(x,v)}{v} \right) dx > \delta_{0}.$$
(11)

Define

$$\Psi_arepsilon(t)=\int_0^t s\psi_arepsilon'(s)ds, \quad t\in\mathbb{R},$$

then it is easy to verify that

$$0 \le \Psi_{\varepsilon}(t) \le 2\varepsilon, \ t \in \mathbb{R} \quad \text{and} \quad \Psi_{\varepsilon}(t) = 0, \ if \ t < \frac{\varepsilon}{2}.$$
 (12)

On one hand, if $B \subset \Omega^* \subset \subset \Omega$, we have v(x) = w(x) for all $x \in \partial \Omega^*$. Hence, the following result can be obtained through the divergence theorem

$$\begin{split} &\int_{\Omega^*} \left(w \triangle v - v \triangle w \right) \psi_{\varepsilon}(v - w) dx \\ &= \int_{\partial \Omega^*} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds - \int_{\Omega^*} \nabla v \nabla w \psi_{\varepsilon}(v - w) dx \\ &- \int_{\Omega^*} w \psi'_{\varepsilon}(v - w) \nabla v (\nabla v - \nabla w) dx - \int_{\partial \Omega^*} v \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla w ds \\ &+ \int_{\Omega^*} \nabla v \nabla w \psi_{\varepsilon}(v - w) dx + \int_{\Omega^*} v \psi'_{\varepsilon}(v - w) \nabla w (\nabla v - \nabla w) dx \\ &= \int_{\Omega^*} v \psi'_{\varepsilon}(v - w) (\nabla v - \nabla w) (\nabla w - \nabla v) dx \\ &+ \int_{\Omega^*} (v - w) \psi'_{\varepsilon}(v - w) (\nabla v - \nabla w) \nabla v dx \leq \int_{\Omega^*} \nabla v \nabla (\Psi_{\varepsilon}(v - w)) dx \\ &= \int_{\partial \Omega^*} \Psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds - \int_{\Omega^*} \Psi_{\varepsilon}(v - w) \Delta v dx < \frac{\delta_0}{2}. \end{split}$$

This is a contradiction to (11). Thus, $v \le w$ is true. On the other hand, if $B \subset \Omega^*$ and $\partial \Omega^* = S_1 \cup S_2$ where $S_1 = \partial \Omega^* \cap \partial \Omega$ and $S_2 = \partial \Omega^* \subset \subset \Omega$, then v(x) = w(x) holds in S_2 and $\int w w h (v - w) \cdot \mathbf{n} \cdot \nabla v ds$

$$\int_{\partial \Omega^*} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds$$

= $\int_{S_1} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds + \int_{S_2} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds$ (13)
= $\int_{S_1} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds$

and

$$\int_{\partial\Omega^{*}} v\psi_{\varepsilon}(v-w) \cdot \mathbf{n} \cdot \nabla w ds$$

$$= \int_{S_{1}} v\psi_{\varepsilon}(v-w) \cdot \mathbf{n} \cdot \nabla w ds + \int_{S_{2}} v\psi_{\varepsilon}(v-w) \cdot \mathbf{n} \cdot \nabla w ds \qquad (14)$$

$$= \int_{S_{1}} v\psi_{\varepsilon}(v-w) \cdot \mathbf{n} \cdot \nabla w ds.$$

From (13) and (14), we have

$$\begin{split} &\int_{\Omega^*} \left(w \triangle v - v \triangle w \right) \psi_{\varepsilon}(v - w) dx \\ &= \int_{S_1} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds - \int_{\Omega^*} \nabla v \nabla w \psi_{\varepsilon}(v - w) dx \\ &- \int_{\Omega^*} w \psi'_{\varepsilon}(v - w) \nabla v (\nabla v - \nabla w) dx - \int_{S_1} v \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla w ds \\ &+ \int_{\Omega^*} \nabla v \nabla w \psi_{\varepsilon}(v - w) dx + \int_{\Omega^*} v \psi'_{\varepsilon}(v - w) \nabla w (\nabla v - \nabla w) dx \\ &= \int_{\Omega^*} v \psi'_{\varepsilon}(v - w) (\nabla v - \nabla w) (\nabla w - \nabla v) dx \\ &+ \int_{\Omega^*} (v - w) \psi'_{\varepsilon} (\nabla v - \nabla w) (v - w) \nabla v dx \\ &+ \int_{S_1} w \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla v ds - \int_{S_1} v \psi_{\varepsilon}(v - w) \cdot \mathbf{n} \cdot \nabla w ds \\ &\leq \int_{\Omega^*} \nabla v \nabla (\Psi_{\varepsilon}(v - w)) dx \\ &+ \int_{S_1} \psi_{\varepsilon}(v - w) (w \cdot \mathbf{n} \cdot \nabla v - v \cdot \mathbf{n} \cdot \nabla w) dx \\ &= \int_{\partial\Omega^*} \Psi_{\varepsilon}(v - w) (w \cdot \mathbf{n} \cdot \nabla v - v \cdot \mathbf{n} \cdot \nabla w) dx \\ &= \int_{\partial\Omega^*} \Psi_{\varepsilon}(v - w) (w \cdot \mathbf{n} \cdot \nabla v - v \cdot \mathbf{n} \cdot \nabla w) dx \\ &< \frac{\delta_0}{2} + \int_{S_1} \psi_{\varepsilon}(v - w) (w \cdot \mathbf{n} \cdot \nabla v - v \cdot \mathbf{n} \cdot \nabla w) dx. \end{split}$$

From condition (*b*) and the property of S_1 , we have $\mathbf{n} \cdot \nabla v + g(v)v \le c \le \mathbf{n} \cdot \nabla w + g(w)w$ and $v(x) \ge w(x)$ on $\partial\Omega$ for $S_1 \subset \partial\Omega$, which together with (*H*5) implies that

$$(\mathbf{n} \cdot \nabla v + g(v)v) \cdot w \le cw, \ (\mathbf{n} \cdot \nabla w + g(w)w) \cdot v \ge cv \ge cw, \ x \in S_1$$

and

$$g(v(x)) \ge g(w(x)), \ x \in S_1$$

Hence,

$$\begin{split} &\int_{S_1} \psi_{\varepsilon}(v-w) \left(w \cdot \boldsymbol{n} \cdot \nabla v - v \cdot \boldsymbol{n} \cdot \nabla w \right) dx \\ &\leq \int_{S_1} \psi_{\varepsilon}(v-w) \left(cw - g(v)vw + g(w)wv - cw \right) dx \\ &= \int_{S_1} \psi_{\varepsilon}(v-w) \left(-g(v)vw + g(w)wv \right) dx \\ &= \int_{S_1} \psi_{\varepsilon}(v-w)vw (g(w) - g(v)) dx \\ &\leq \int_{S_1} vw (g(w) - g(v)) dx \leq 0. \end{split}$$
(16)

From (15) and (16), we have

$$\begin{split} &\int_{\Omega^*} (w \triangle v - v \triangle w) \psi_{\varepsilon}(v - w) dx \\ &< \frac{\delta_0}{2} + \int_{S_1} \psi_{\varepsilon}(v - w) (w \cdot \mathbf{n} \cdot \nabla v - v \cdot \mathbf{n} \cdot \nabla w) dx \\ &\le \frac{\delta_0}{2} + 0 = \frac{\delta_0}{2}. \end{split}$$

This is a contradiction with (11).

Consequently, $v \leq w$ in Ω .

If one " \leq " in condition (a) is replaced by "<", we show that v(x) < w(x) for all $x \in \Omega$.

In fact, suppose that there exists a $x_0 \in \Omega$ with $v(x_0) = w(x_0)$. Choose $r_0 > 0$ small enough $B(x_0, r_0) \subset \Omega$. From $v(x) \leq w(x)$ in $B(x_0, r_0)$, one has $w(x_0) - v(x_0) = \min_{x \in B(x_0, r_0)}(w(x) - v(x))$, which implies $\Delta(w(x_0) - v(x_0)) \geq 0$. On the other hand, from condition (a) and $f(x_0, w(x_0)) = f(x_0, v(x_0))$, we have $\Delta(w(x_0) - v(x_0)) < 0$. This is a contradiction.

The proof is completed. \Box

Now, we list some well-known results. The following problem (see [9])

$$\begin{cases} -\triangle u = \lambda u, & \text{in } \Omega, \\ u = 0, & \text{on } \partial \Omega \end{cases}$$
(17)

has the smallest eigenvalue λ_1 with the corresponding eigenfunction $\varphi_1 \in C^{2+\beta}(\bar{\Omega})$.

In the following, we present the existence and uniqueness of the positive solutions of the following problem

$$\begin{cases} -\triangle u = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ \boldsymbol{n} \cdot \nabla u + g(u)u = b \ge 0, & \text{on } \partial\Omega, p \in (0, 1). \end{cases}$$
(18)

Lemma 4. Let $p \in (0,1)$, $\lambda > 0$. Then, the boundary value problem (18) has a unique positive solution $u^* \in C^{2,\beta}(\Omega) \cap C^1(\overline{\Omega})$.

Proof. We start with a proof of existence of a positive solution of (18). First, let *e* be the unique solution of

$$\begin{cases} -\triangle u = 1, & \text{in } \Omega, \\ n \cdot \nabla u + g_0 u = b & \text{on } \partial \Omega, \end{cases}$$
(19)

where $g(0) = g_0 > 0$. Define $\overline{u} = Me$, where $M \ge \max\{1, (\lambda e_0^p)^{\frac{1}{1-p}}\}$ is a positive constant. Here, $e_0 = \max_{x \in \overline{\Omega}} e(x)$. It is easy to see that

$$\overline{u} > 0$$
, in Ω

and

$$\begin{aligned} -\triangle \overline{u} &= M(-\triangle e) = M \ge \lambda \overline{u}^p, & \text{in } \Omega, \\ \boldsymbol{n} \cdot \nabla \overline{u} + g(\overline{u}) \overline{u} \ge \boldsymbol{n} \cdot \nabla M e + g_0(M e) = M \big(\boldsymbol{n} \cdot \nabla e + g_0 e \big) \ge b, & \text{on } \partial \Omega, \end{aligned}$$

that is, $\overline{u} = Me$ satisfies

$$\begin{cases} -\Delta \overline{u} \ge \lambda \overline{u}^p, & \text{in } \Omega, \\ \overline{u} > 0, & \text{in } \Omega, \\ n \cdot \nabla \overline{u} + g(\overline{u}) \overline{u} \ge b, & \text{on } \partial \Omega, \end{cases}$$

which guarantees that $\overline{u} = Me$ is the supersolution of (18).

Second, let us now show that there is a positive subsolution \underline{u} for problem (18). We now choose $\underline{u} = \varepsilon \varphi_1$, where φ_1 is given by the previous (17) and ε is small enough such that

$$\underline{u}(x) < \overline{u}(x)$$
, and $\lambda_1 (\varepsilon \varphi_1)^{1-p} < \lambda$, in Ω .

Thus,

$$-\triangle \underline{u} = -\triangle (\varepsilon \varphi_1) = \varepsilon (-\triangle \varphi_1) = \lambda_1 \varepsilon \varphi_1 = \lambda_1 (\varepsilon \varphi_1)^{1-p} (\varepsilon \varphi_1)^p < \lambda \underline{u}^p, \quad \text{in } \Omega.$$

Moreover, by Hopf's maximum principle, $\mathbf{n} \cdot \nabla \varphi_1 < 0$, we have

$$\mathbf{n} \cdot \nabla \underline{u} + g(\underline{u})\underline{u} = \varepsilon \mathbf{n} \cdot \nabla \varphi_1 + 0 < 0, \text{ on } \partial \Omega.$$

Hence, $\underline{u} = \varepsilon \varphi_1$ satisfies

$$\begin{cases} -\Delta \underline{u} \leq \lambda \underline{u}^{p}, & \text{in } \Omega, \\ \underline{u} > 0, & \text{in } \Omega, \\ n \cdot \nabla \underline{u} + g(\underline{u}) \underline{u} \leq b, & \text{on } \partial \Omega, \end{cases}$$

which implies that \underline{u} is indeed a positive subsolution of (18).

Therefore, by Lemma 1, we know that (18) has a positive solution. Next, let us show that the positive solution of problem (18) is unique.

Let $u_1, u_2 > 0$ be solutions of (18), satisfying $u_1 \neq u_2$. We have

$$\triangle u_1 + \lambda u_1^p = 0 = \triangle u_2 + \lambda u_2^p, \quad \text{in } \Omega,$$

and

$$\boldsymbol{n} \cdot \nabla u_1 + g(u_1)u_1 = b = \boldsymbol{n} \cdot \nabla u_2 + g(u_2)u_2, \text{ on } \partial \Omega$$

where $\frac{\lambda s^p}{s}$ is strictly decreasing. By Lemma 3, we obtain $u_1 \le u_2$ in Ω , and $u_2 \le u_1$ in Ω . Now, we obtain $u_1 = u_2$, in Ω , the uniqueness is proved.

The proof is completed. \Box

If
$$g(u) \equiv g_0$$
 for all $u \in [0, +\infty)$, we have a direct conclusion as follows.

Lemma 5. Let $p \in (0, 1)$, $\lambda > 0$. Then, the following problem

$$\begin{cases} -\triangle u = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ \mathbf{n} \cdot \nabla u + g_{0} u = b \ge 0, & \text{on } \partial \Omega \end{cases}$$
(20)

has a unique positive solution $u^{**} \in C^{2,\beta}(\Omega) \cap C(\overline{\Omega})$, where $g_0 = g(0)$.

Lemma 6. There exists a $\delta_{\lambda} > 0$ such that

$$u^*(x) \ge \delta_{\lambda}, u^{**}(x) \ge \delta_{\lambda}, \quad \forall x \in \overline{\Omega},$$
(21)

where u^* and u^{**} are the solutions of problem (18) and problem (20), respectively.

Proof. Let $\delta_{1,\lambda} := \min_{x \in \overline{\Omega}} u^*(x)$. If $\delta_{1,\lambda} = 0$, there exists a $x_0 \in \partial\Omega$ such that $u^*(x_0) = 0$. By the strong maximum theorem, one has $n \cdot \nabla u^*(x_0) < 0$, which implies that

$$n \cdot \nabla u^*(x_0) + g(u^*(x_0))u^*(x_0) < 0, \ x \in \partial \Omega.$$
(22)

This is a contradiction. Thus, $\delta_{1,\lambda} > 0$.

Let $\delta_{2,\lambda} := \min_{x \in \overline{\Omega}} u^{**}(x)$. The same argument shows that $\delta_{2,\lambda} > 0$. Set $\delta_{\lambda} = \min\{\delta_{1,\lambda}, \delta_{2,\lambda}\}$.

The proof is completed. \Box

3. Main Theorems

Now, we list our main results in the following.

Theorem 1. Assume that K(x) > 0 for all $x \in \overline{\Omega}$, $0 < \alpha < 1$ and $0 . Then, there exists <math>\overline{\lambda} \in (0, +\infty)$ such that

(i) (1) has at least one positive solution $u_{\lambda} \in C(\overline{\Omega}) \cap C^{2+\beta}(\Omega)$ for all $\lambda > \overline{\lambda}$;

(ii) (1) has no positive solution in $C(\overline{\Omega}) \cap C^2(\Omega)$ for all $\lambda < \overline{\lambda}$;

(iii) For $\lambda > \overline{\lambda}$, (1) has a maximal solution \overline{u}_{λ} , and \overline{u}_{λ} is increasing with respect to λ .

Theorem 2. Assume that K(x) < 0 for all $x \in \overline{\Omega}$, $0 < \alpha < 1$ and 0 . Then,(*i* $) (1) has a unique solution in <math>C(\overline{\Omega}) \cap C^2(\Omega)$ for any $\lambda > 0$; (*ii*) u_{λ} is increasing with respect to λ .

Theorem 3. Assume that K(x) is a sign changing function and $0 < \alpha < 1, 0 < p < 1$. Then, there exists a $\lambda' > 0$ such that

(i) (1) has at least one positive solution in $C(\overline{\Omega}) \cap C^2(\Omega)$ for any $\lambda > \lambda'$;

(ii) For $\lambda_2 > \lambda_1 > \lambda'$, there exists solutions u_{λ_1} and u_{λ_2} satisfying problem (1) for $\lambda = \lambda_1$ and $\lambda = \lambda_2$, respectively, such that $u_{\lambda_1} \le u_{\lambda_2}$.

In our proof, the following result is needed in [7].

Lemma 7. There exists a $\lambda_* > 0$ such that problem (6) has at least one positive solution $u_{\lambda} \in C^{1,\gamma}(\overline{\Omega})$, where $\gamma = 1 - \alpha$ when K(x) > 0 and $\lambda > \lambda_*$.

We now present the proofs of our main theorems.

The Proof of Theorem 1. (i) We show that there exists a $\bar{\lambda} > 0$ such that problem (1) has at least one positive solution $u_{\lambda} \in C(\bar{\Omega}) \cap C^{2+\beta}(\Omega)$ for all $\lambda > \bar{\lambda}$ and has no positive solution for $\lambda < \bar{\lambda}$.

First, we consider the following problem

$$\begin{cases} -\triangle u + K(x)u^{-\alpha} = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = \frac{1}{k}, & \text{on } \partial \Omega \end{cases}$$
(23)

and claim that problem (23) has at least one positive solution for each $k \ge 1$ and $\lambda > \lambda_*$ where λ_* is defined in Lemma 7.

$$\int \mathbf{n} \cdot \nabla u + g(u)u = \frac{1}{k}, \qquad \text{on } \partial\Omega.$$

For $\lambda > \lambda_*$ and k = 1, let $\overline{u}_1 = u_1^* \in C^{2,\beta}(\Omega)$ be the positive solution of the problem (18) for b = 1. Then, we have

$$-\bigtriangleup \overline{u}_1 + K(x)(\overline{u}_1)^{-\alpha} = -\bigtriangleup u_1^* + K(x)(u_1^*)^{-\alpha} > \lambda(u_1^*)^p = \lambda(\overline{u}_1)^p, \quad \text{in } \Omega$$

and

$$\mathbf{n} \cdot \nabla \overline{u}_1 + g(\overline{u}_1)\overline{u}_1 = \mathbf{n} \cdot \nabla(u_1^*) + g(u_1^*)(u_1^*) = b = 1, \text{ on } \partial\Omega,$$

which guarantees \overline{u}_1 is a supersolution of problem (23) for k = 1.

Since $\lim_{s\to+0} g(s)s = 0 < \frac{1}{k}$ for each k > 0, choose a decreasing sequence $\{s_k > 0\}$ such that $g(s_k)s_k < \frac{1}{k}$, $k = 1, 2, \cdots$. Let $\underline{u}_1 = \underline{u} + s_1$ where \underline{u} be the positive solution of problem (6) in Lemma 7 and $g(s_1)s_1 < 1$. Since $\underline{u} \in C^{1,\beta}(\overline{\Omega})$ with $\underline{u}_1 = \underline{u}(x) + s_1 > 0$ for all $x \in \Omega$, one has that $\mathbf{n} \cdot \nabla \underline{u}_1 = \mathbf{n} \cdot \nabla \underline{u} = \mathbf{n} \cdot \nabla \underline{u} \le 0$ for all $x \in \partial\Omega$, which, together with $\underline{u}(x) = 0$ for all $x \in \partial\Omega$, implies that

$$\begin{split} \mathbf{n} \cdot \nabla \underline{u}_1 + g(\underline{u}_1) \underline{u}_1 &= \mathbf{n} \cdot \nabla (\underline{u} + s_1) + g(\underline{u} + s_1) (\underline{u} + s_1) \\ &= \mathbf{n} \cdot \nabla \underline{u} + g(s_1) s_1 \\ &\leq 1, \end{split}$$

for all $x \in \partial \Omega$. Moreover, we have

$$-\Delta \underline{u}_{1} + K(x)\underline{u}_{1}^{-\alpha} = -\Delta (\underline{u} + s_{1}) + K(x)(\underline{u} + s_{1})^{-\alpha}$$

$$\leq -\Delta \underline{u} + K(x)\underline{u}^{-\alpha}$$

$$= \lambda u^{p}, \quad \text{in } \Omega.$$
(25)

Thus, \underline{u}_1 is a subsolution of problem (23) for k = 1. The above proof shows that

$$\Delta \underline{u}_1 + \lambda \underline{u}_1^p \ge 0 = \Delta \overline{u}_1 + \lambda (\overline{u}_1)^p, \text{ in } \Omega,$$

$$\mathbf{n} \cdot \nabla \underline{u}_1 + g(\underline{u}_1) \underline{u}_1 \le 1 = \mathbf{n} \cdot \nabla \overline{u}_1 + g(\overline{u}_1) \overline{u}_1, \text{ on } \partial \Omega.$$

Since $\frac{\lambda s^p}{s} = \lambda s^{p-1}$ is strictly decreasing for $s \in (0, \infty)$, it follows from Lemma 3 that

$$0 < \underline{u}_1(x) \le \overline{u}_1(x)$$
, for $x \in \Omega$

Hence, Lemma 1 guarantees that problem (23) has at least one solution u_1 satisfying

$$\underline{u}_1 \le u_1 \le \overline{u}_1, \quad \text{on } \Omega, \tag{26}$$

for all $\lambda > \lambda_*$.

Let $\overline{u}_2 = u_1$ be defined in (26). Obviously,

$$-\triangle \overline{u}_2 + K(x)(\overline{u}_2)^{-\alpha} = -\triangle u_1 + K(x)u_1^{-\alpha} = \lambda u_1^p = \lambda \overline{u}_2^p, \quad \text{in } \Omega$$

and

$$\boldsymbol{n} \cdot \nabla \overline{u}_2 + g(\overline{u}_2)\overline{u}_2 = \boldsymbol{n} \cdot \nabla u_1 + g(u_1)u_1 = 1 \ge \frac{1}{2}, \text{ on } \partial \Omega$$

which guarantees \overline{u}_2 is a supersolution of problem (23) for k = 2.

A similar argument in (25) shows that $\underline{u}_2 = \underline{u} + s_2$ is a subsolution of problem (23) for k = 2. Now, Lemma 1 guarantees that problem (23) has at least one solution u_2 satisfying

$$\underline{u}_2(x) \le u_2(x) \le \overline{u}_2(x) = u_1(x), \text{ on } \Omega,$$

for all $\lambda > \lambda_*$. Since

$$\lim_{k\to+\infty}\underline{u}_k(x)=\underline{u}(x), x\in\overline{\Omega}.$$

For each $k \ge 1$, problem (23) has at least one positive solution u_k for all $\lambda > \lambda_*$ with

$$\underline{u}(x) \leq \dots \leq u_k(x) \leq \dots \leq u_1(x), \ x \in \overline{\Omega}.$$
(27)

Second, we consider the property of $\{u_k\}$ defined in (27).

The monotonicity and boundedness of $\{u_k\}$ guarantee that there exists a positive solution *u* such that

$$\lim_{k \to +\infty} u_k(x) = u(x) \ge \underline{u}(x), x \in \Omega.$$

A standard argument in [10] shows that for each bounded $\Omega_1 \subseteq \Omega$ with $C^{1,\beta}$ -boundary,

$$\lim_{k \to +\infty} u_k(x) = u(x), \text{ uniformly for all } x \in \Omega_1,$$

which implies that $u \in C^2(\Omega)$ satisfies that

$$-\bigtriangleup u + K(x)u^{-\alpha} = \lambda u^p, \ x \in \Omega.$$
(28)

Moreover, from the boundedness of $\{u_k(x)\}$ on $\partial\Omega$ and $\mathbf{n} \cdot \nabla u_k + g(u_k)u_k = \frac{1}{k}$ on $\partial\Omega$, we know that $\{\mathbf{n} \cdot \nabla u_k\}$ are bounded on $\partial\Omega$, which, together with $\lim_{k\to+\infty} u_k(x) = u(x)$ on $\partial\Omega$, guarantees that

$$\lim_{k \to +\infty} \mathbf{n} \cdot \nabla u_k(x) = \mathbf{n} \cdot \nabla u(x) \text{ and } \lim_{k \to +\infty} \frac{1}{k} = 0, \text{ uniformly on } \partial\Omega.$$

Thus,
$$\mathbf{n} \cdot \nabla u(x) + g(u(x))u(x) = 0, \text{ on } \partial\Omega.$$
 (29)

Combined (28) and (29), we know that *u* is a positive solution of problem (1) for $\lambda > \lambda_*$.

Finally, we present the existence of $\overline{\lambda}$.

Set

 $\vartheta := \{\lambda > 0 \mid \text{problem (1) has at least one positive solution } u_{\lambda} \}$

and

$$\overline{\lambda} := inf\vartheta.$$

Now, we show that if $\lambda_0 > \overline{\lambda}$, then $[\lambda_0, +\infty) \subset \vartheta$. Since $\lambda_0 > \overline{\lambda}$, there exists a $\lambda' \in \vartheta$ with $\lambda' < \lambda_0$.

For $\lambda \geq \lambda_0$, we consider the existence of positive solutions of the following problem

$$\begin{cases} -\Delta u + K(x)(u)^{-\alpha} = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = 0, & \text{on } \partial \Omega. \end{cases}$$
(30)

Observe the following problem

$$\begin{cases} -\Delta u + K(x)u^{-\alpha} = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = \frac{1}{k}, & \text{on } \partial\Omega, \end{cases}$$
(31)

It is easy to see that $u_{\lambda'}$ is a subsolution of problem (31) for each $k \ge 1$, where $u_{\lambda'}$ satisfies

$$\begin{cases} -\triangle u + K(x)(u)^{-\alpha} = \lambda' u^p, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = 0, & \text{on } \partial \Omega. \end{cases}$$

By the same process as we constructed the supersolutions of problem (23), we can obtain the supersolutions of problem (31) for each $k \ge 1$.

A standard argument as we discuss problem (23) shows that problem (31) has at least one positive solution for each $k \ge 1$, and we can obtain that problem (30) has at least one positive solution for $\lambda \in [\lambda_0, +\infty)$, i.e., $[\lambda_0, +\infty) \subseteq \vartheta$.

First, we prove problem (1) has a maximal solution \overline{u}_{λ} for all $\lambda > \overline{\lambda}$. Let $\{w_i\}$ be a solution sequence of the following problem

$$\begin{cases} -\Delta v + K(x)w_{i-1}^{-\alpha} = \lambda w_{i-1}^{p}, & \text{in }\Omega, \\ n \cdot \nabla v + g(v)v = \frac{1}{i}, & \text{on }\partial\Omega, \end{cases}$$
(32)

for $i = 1, 2, \dots$, where w_0 is defined in (20) for above $\lambda > \overline{\lambda}$ and b = 1.

We claim that for any positive solution u_{λ} of (1), we have

$$u_{\lambda} \leq \cdots \leq w_{i} \leq w_{i-1} \leq \cdots \leq w_{0}. \tag{33}$$

In fact, it is easy to see that

$$\Delta u_{\lambda} + \lambda u_{\lambda}^{p} = K(x)u_{\lambda}^{-\alpha} \ge 0 = \Delta w_{0} + \lambda w_{0}^{p}, \quad \text{in } \Omega$$

and

$$\mathbf{n} \cdot \nabla u_{\lambda} + g(u_{\lambda})u_{\lambda} = 0 \le 1 = \mathbf{n} \cdot \nabla w_0 + g_0 w_0 \le \mathbf{n} \cdot \nabla w_0 + g(w_0)w_0$$
, on $\partial \Omega$.

From Lemma 3, we have $u_{\lambda} < w_0$.

From (32) and (20), we have

$$\triangle w_1 + \lambda w_0^p = K(x)w_0^{-\alpha} > 0 = \triangle w_0 + \lambda w_0^p, \quad \text{in } \Omega$$

and

$$\mathbf{n} \cdot \nabla w_1 + g(w_1)w_1 = 1 = \mathbf{n} \cdot \nabla w_0 + g_0 w_0 \le \mathbf{n} \cdot \nabla w_0 + g(w_0)w_0$$
, on $\partial \Omega$,

which, together with Lemma 2, implies that $w_1 \leq w_0$, in Ω .

In addition, for any $s \ge 0$, since $(\lambda s^p - K(x)s^{-\alpha})' = \lambda \cdot p \cdot s^{p-1} + \alpha K(x)s^{-\alpha-1} > 0$ and the function $\lambda s^p - K(x)s^{-\alpha}$ is an increasing function, we have

$$\begin{cases} \lambda w_1^p - K(x)w_1^{-\alpha} \le \lambda w_0^p - K(x)w_0^{-\alpha}, & \text{in } \Omega, \\ \lambda u_\lambda^p - K(x)u_\lambda^{-\alpha} \le \lambda w_0^p - K(x)w_0^{-\alpha}, & \text{in } \Omega, \end{cases}$$

which, together with

$$-\bigtriangleup w_2 = \lambda w_1^p - K(x)w_1^{-\alpha}, \lambda w_0^p - K(x)w_0^{-\alpha} = -\bigtriangleup w_1$$

and

$$\Delta u_{\lambda} = \lambda u_{\lambda}^{p} - K(x)u_{\lambda}^{-\alpha}, \lambda w_{0}^{p} - K(x)w_{0}^{-\alpha} = -\Delta w_{1}$$

implies that $-\triangle w_2 \leq -\triangle w_1$ and $-\triangle u_\lambda \leq -\triangle w_1$, in Ω . Moreover, for $x \in \partial \Omega$, we have

$$\boldsymbol{n} \cdot \nabla w_1 + g(w_1)w_1 = 1 \ge \frac{1}{2} \ge \boldsymbol{n} \cdot \nabla w_2 + g(w_2)w_2$$

and

$$\boldsymbol{n} \cdot \nabla w_1 + g(w_1)w_1 = 1 \ge 0 = \boldsymbol{n} \cdot \nabla u_\lambda + g(u_\lambda)u_\lambda$$

Hence, Lemma 2 guarantees that $w_2 \leq w_1$ and $u_{\lambda} \leq w_1$ in $\overline{\Omega}$.

Repeating the previous steps, we know that (33) is true.

Using the same proof as (28) and (29), we obtain a \overline{u}_{λ} defined by

$$\overline{u}_{\lambda}(x) = \lim_{i \to +\infty} w_i(x) \tag{34}$$

and \overline{u}_{λ} is a solution of (1) and for any u_{λ} such that $\overline{u}_{\lambda} \ge u_{\lambda}$. Therefore, \overline{u}_{λ} is a maximal solution of problem (1) for $\lambda > \overline{\lambda}$.

Second, we show that $\overline{u}_{\lambda_1} \leq \overline{u}_{\lambda_2}$, where \overline{u}_{λ_1} and \overline{u}_{λ_2} are the corresponding maximal solution of problem (1) for $\lambda = \lambda_1$ and $\lambda = \lambda_2$.

Let w_{λ_2} be the solution of the

$$\begin{cases} -\Delta u = \lambda_2 u^p, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ \boldsymbol{n} \cdot \nabla u + g_0 u = 1, & \text{on } \partial \Omega. \end{cases}$$
(35)

Let v_i be a sequence of solutions to the following problem

$$\begin{cases} -\triangle v + K(x)v_{j-1}^{-\alpha} = \lambda_2 v_{j-1}^p, & \text{in } \Omega, \\ n \cdot \nabla v + g(v)v = \frac{1}{j}, & \text{on } \partial\Omega, \end{cases}$$
(36)

for $j = 1, 2, \dots$, with $v_0 = w_{\lambda_2}$.

By the proof process of (34), we obtain

$$\begin{cases} \overline{u}_{\lambda_2} \leq \cdots \leq v_j \leq v_{j-1} \leq \cdots \leq v_0, \\ \lim_{j \to +\infty} v_j(x) = \overline{u}_{\lambda_2}. \end{cases}$$
(37)

in Ω,

Moreover, from (35) and (36), we have

$$\boldsymbol{n} \cdot \nabla \overline{u}_{\lambda_1} + g(\overline{u}_{\lambda_1})\overline{u}_{\lambda_1} = 0 \le 1 = \boldsymbol{n} \cdot \nabla v_0 + g_0 v_0 \le \boldsymbol{n} \cdot \nabla v_0 + g(v_0)v_0, \quad \text{ on } \partial\Omega$$
from

and

$$\begin{split} \triangle \overline{u}_{\lambda_1} + \lambda_1 \overline{u}_{\lambda_1}^p &= K(x) (\overline{u}_{\lambda_1})^{-\alpha} \\ &> 0 \\ &= \triangle v_0 + \lambda_2 (v_0)^p \\ &\ge \triangle v_0 + \lambda_1 (v_0)^p, \end{split}$$

we obtain $\triangle v_0 + \lambda_1 v_0^p \le 0 \le \triangle \overline{u}_{\lambda_1} + \lambda_1 \overline{u}_{\lambda_1}^p$, in Ω . Now, Lemma 3 implies that $\overline{u}_{\lambda_1} \le v_0$, in Ω . The monotonicity of $\lambda_1 s^p - K(x) s^{-\alpha}$ guarantees that $\lambda_1 \overline{u}_{\lambda_1}^p - K(x) \overline{u}_{\lambda_1}^{-\alpha} \le \lambda_1 v_0^p - K(x) v_0^{-\alpha}$. From

$$-\triangle \overline{u}_{\lambda_1} = \lambda_1 \overline{u}_{\lambda_1}^p - K(x)(\overline{u}_{\lambda_1})^{-\alpha} \le \lambda_1 v_0^p - K(x)v_0^{-\alpha} = -\triangle v_1, \text{ in } \Omega$$

and

$$\mathbf{n} \cdot \nabla \overline{u}_{\lambda_1} + g(\overline{u}_{\lambda_1})\overline{u}_{\lambda_1} = 0 < 1 = \mathbf{n} \cdot \nabla v_1 + g(v_1)v_1, \text{ on } \partial \Omega_{\lambda_1}$$

we obtain $-\Delta \overline{u}_{\lambda_1} \leq -\Delta v_1$, in Ω , which implies that $\overline{u}_{\lambda_1} \leq v_1$ by Lemma 2. Repeating the process, we have

$$\overline{u}_{\lambda_1} \leq v_j, \ j = 0, 1, 2, \cdots$$

which, together with (37), implies that $\overline{u}_{\lambda_1} \leq \overline{u}_{\lambda_2}$. So \overline{u}_{λ} is increasing with respect to λ . The proof of Theorem 1 is now completed. \Box

The Proof of Theorem 2. (i) We prove the existence and uniqueness of positive solution problem (1).

First, we consider a generalized problem

$$\begin{array}{ll}
 & -\Delta u + K(x)u^{-\alpha} = \lambda u^p, & \text{in }\Omega, \\
 & u > 0, & \text{in }\Omega, \\
 & n \cdot \nabla u + g(u)u = b \ge 0, & \text{on }\partial\Omega,
\end{array}$$
(38)

where $b \ge 0$ and claim that problem (38) has a unique positive solution for each $b \ge 0$.

From Lemma 4, problem (18) has a unique positive solution u_{λ} , and Lemma 6 guarantees that there exists a $\delta_{\lambda} > 0$ such that $u_{\lambda} \ge \delta_{\lambda}$ for all $x \in \overline{\Omega}$.

In order to discuss problem (38), we consider a modified problem

$$\begin{cases} -\Delta u + K(x)(\max\{u, \delta_{\lambda}\})^{-\alpha} = \lambda u^{p}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = b, & \text{on } \partial\Omega, \end{cases}$$
(39)

where δ_{λ} is in Lemma 6 and show that the problem (39) has at least one positive solution.

Let $\overline{u}_1 = Cu_1 \in C^{2,\beta}(\overline{\Omega})$ where u_1 is the positive solution of problem (20) for $b \ge 0$, and C > 1 is big enough such that

$$C\lambda u_1^p + K(x)(\max\{Cu_1,\delta_\lambda\})^{-\alpha} \ge \lambda (Cu_1)^p.$$

Hence,

 $-\Delta \overline{u}_1 + K(x)(\max\{\overline{u}_1, \delta_\lambda\})^{-\alpha} = C\lambda u_1^p + K(x)(\max\{Cu_1, \delta_\lambda\})^{\alpha}$ $\geq \lambda (Cu_1)^p$ $= \lambda \overline{u}^p, \quad \text{in } \Omega$

and

$$\begin{aligned} \mathbf{n} \cdot \nabla \overline{u}_1 + g(\overline{u}_1) \overline{u}_1 &= \mathbf{n} \cdot \nabla C u_1 + g(C u_1) \cdot C u_1 \\ &\geq C \left(\mathbf{n} \cdot \nabla u_1 + g_0 u_1 \right) \\ &= C \cdot b \\ &\geq b, \quad \text{on } \partial \Omega, \end{aligned}$$

which implies that \overline{u}_1 is a supersolution of (39).

Set $\underline{u}(x) = u^*(x)$ where u^* is the unique positive solution of problem (18) for $b \ge 0$. We know that the problem

$$\begin{cases} -\triangle \underline{u} = \lambda \underline{u}^p, & \text{in } \Omega, \\ \underline{u} > 0, & \text{in } \Omega, \\ \mathbf{n} \nabla \underline{u} + g(\underline{u}) \underline{u} = b, & \text{on } \partial \Omega, \end{cases}$$

which implies that \underline{u} is a subsolution of problem (39). In fact,

$$-\triangle \underline{u} + K(x)(\max\{\underline{u},\delta_{\lambda}\})^{-\alpha} \le -\triangle \underline{u} + 0 \cdot (\max\{\underline{u},\delta_{\lambda}\})^{-\alpha} = -\triangle \underline{u} = \lambda \underline{u}^{p}, \quad \text{in } \Omega$$

and

$$\boldsymbol{n} \cdot \nabla \underline{\boldsymbol{u}} + g(\underline{\boldsymbol{u}})\underline{\boldsymbol{u}} = \boldsymbol{b}, \text{ on } \partial \Omega.$$

Thus, \underline{u} is a subsolution of problem (39). Moreover, since

$$\Delta \underline{u} + \lambda \underline{u}^{p} = 0 \ge K(x) (\max\{\overline{u}_{1}, \delta\})^{-\alpha} \ge \Delta \overline{u}_{1} + \lambda \overline{u}_{1}^{p} \quad \text{in } \Omega,$$

$$\mathbf{n} \cdot \nabla \underline{u} + g(\underline{u}) \underline{u} = b \le \mathbf{n} \cdot \nabla \overline{u}_{1} + g(\overline{u}_{1}) \overline{u}_{1} \quad \text{on } \partial \Omega$$

and $\frac{\lambda s^p}{s} = \lambda s^{p-1}$ is strictly decreasing for $s \in (0, \infty)$, which implies that

$$\underline{u}(x) \leq \overline{u}_1(x) \text{ for } x \in \overline{\Omega}$$

by Lemma 3.

Hence, problem (39) has at least one solution u satisfying

$$\delta_{\lambda} \leq \underline{u} \leq u \leq \overline{u}_1$$
, on Ω .

In addition, $\max\{u(x), \delta_{\lambda}\} = u(x)$ for all $x \in \overline{\Omega}$ guarantees that u is the solution of problem (38) as well.

Next, let us show that the solution of problem (38) is unique.

We assume that u_1 and u_2 are the solutions of problem (38). In other words, u_1, u_2 respectively satisfy

$$\begin{cases} -\triangle u_1 + K(x)u_1^{-\alpha} = \lambda u_1^p, & \text{in } \Omega, \\ u_1 > 0, & \text{in } \Omega, \\ \boldsymbol{n} \cdot \nabla u_1 + g(u_1)u_1 = b, & \text{on } \partial \Omega \end{cases}$$

and

$$\begin{cases} -\triangle u_2 + K(x)u_2^{-\alpha} = \lambda u_2^p, & \text{in } \Omega, \\ u_2 > 0, & \text{in } \Omega, \\ n \cdot \nabla u_2 + g(u_2)u_2 = b, & \text{on } \partial \Omega \end{cases}$$

Since

$$(\frac{f(x,s)}{s})' = \lambda(p-1)s^{p-2} + \frac{(\alpha+1)K(x)}{s^{\alpha+2}} < 0,$$

we know that $\frac{f(x,s)}{s}$ is decreasing. Therefore, Lemma 3 guarantees that $u_1 \ge u_2$ and $u_1 \le u_2$. Thus, $u_1 = u_2$, which implies that the solution of problem (38) is unique when K(x) < 0.

Hence, problem (38) has a unique positive solution for each $\lambda > 0$ when K(x) < 0 and $b \ge 0$.

Let b = 0. We know that problem (1) has a unique positive solution when K(x) < 0 for $x \in \overline{\Omega}$.

(ii) We show that u_{λ} is increasing with respect to λ where u_{λ} is the solution of problem (1).

We assume that $\lambda_2 > \lambda_1 > 0$ and u_{λ_1} , u_{λ_2} are the corresponding unique solutions. Obviously,

$$\begin{split} \triangle u_{\lambda_2} - K(x)u_{\lambda_2}^{-\alpha} + \lambda_2 u_{\lambda_2}^p &= 0 \\ &= \triangle u_{\lambda_1} - K(x)u_{\lambda_1}^{-\alpha} + \lambda_1 u_{\lambda_1}^p \\ &< \triangle u_{\lambda_1} - K(x)u_{\lambda_1}^{-\alpha} + \lambda_2 u_{\lambda_1}^p, \end{split}$$

for $x \in \Omega$ and

$$\boldsymbol{n} \cdot \nabla u_{\lambda_2} + g(u_{\lambda_2})u_{\lambda_2} = 0 = \boldsymbol{n} \cdot \nabla u_{\lambda_1} + g(u_{\lambda_1})u_{\lambda_1}, \text{ on } \partial\Omega.$$

Lemma 3 implies that $u_{\lambda_1}(x) \le u_{\lambda_2}(x)$ in $\overline{\Omega}$ since $\frac{-K(x)s^{-\alpha} + \lambda_2 s^p}{s}$ is strictly decreasing for s > 0 at each $x \in \Omega$. Moreover, by the extension of Lemma 3, we have $u_{\lambda_1}(x) < u_{\lambda_2}(x), x \in \Omega$. Thus, u_{λ} is increasing with respect to λ .

The proof of Theorem 2 is completed. \Box

The Proof of Theorem 3. (i) We show that there exists a $\overline{\lambda} > 0$ such that problem (1) has at least one positive solution for all $\lambda > \overline{\lambda}$ when K(x) is sign-changing.

Let $\underline{K} = \min_{x \in \overline{\Omega}} K(x)$ and $\overline{K} = \max_{x \in \overline{\Omega}} K(x)$. Obviously, $\underline{K} \leq K(x) \leq \overline{K}$ and $\underline{K} < 0 < \overline{K}$. Now, Theorem 1 guarantees that there exist a $\overline{\lambda} > 0$ such that the following problem

$$\begin{array}{ll}
-\Delta u + Ku^{-\alpha} = \lambda u^{p}, & \text{in } \Omega, \\
u > 0, & \text{in } \Omega, \\
\mathbf{n} \cdot \nabla u + \underline{g}(u)u = 0, & \text{on } \partial\Omega
\end{array}$$
(40)

has a maximal solution u_{λ} for all $\lambda > \overline{\lambda}$.

Let $\underline{v} := u_{\lambda}$ for $\lambda > \lambda$.

First, we consider an approximate problem $P_k(\lambda)$ of problem (1) as follows

$$\begin{cases} -\triangle u + K(x)(u)^{-\alpha} = \lambda u^p, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = \frac{1}{k}, & \text{on } \partial \Omega. \end{cases}$$
(41)

Obviously,

$$-\Delta \underline{v} + K(x)\underline{v}^{-\alpha} = -\Delta u_{\lambda} + K(x)u_{\lambda}^{-\alpha} \le -\Delta u_{\lambda} + \overline{K}u_{\lambda}^{-\alpha} = \lambda u_{\lambda}^{p} = \lambda \underline{v}^{p}, \quad \text{in } \Omega,$$

$$\mathbf{n} \cdot \nabla \underline{v} + g(\underline{v})\underline{v} = \mathbf{n} \cdot \nabla \overline{u}_{\lambda} + g(\overline{u}_{\lambda})\overline{u}_{\lambda} = 0 < \frac{1}{k}, \quad \text{on } \partial\Omega,$$

which implies that \underline{v} is a subsolution of (41) for each $k \ge 1$.

According to the previous proof Theorem 2,

$$\begin{cases} -\triangle u + \underline{K}u^{-\alpha} = \lambda u^p, & \text{in }\Omega, \\ u > 0, & \text{in }\Omega, \\ n \cdot \nabla u + g(u)u = 1, & \text{on }\partial\Omega \end{cases}$$

has a unique positive solution \overline{w}_1 . Therefore, we obtain

$$-\triangle \overline{w}_1 + K(x)(\overline{w}_1)^{-\alpha} \ge -\triangle \overline{w}_1 + \underline{K}(\overline{w}_1)^{-\alpha} = \lambda \overline{w}_1^p, \quad \text{in } \Omega,$$
$$\boldsymbol{n} \cdot \nabla \overline{w}_1 + g(\overline{w}_1)\overline{w}_1 = 1, \quad \text{on } \partial\Omega,$$

which implies that \overline{w}_1 is a supersolution of (41) for k = 1.

Obviously,

$$\triangle \overline{w}_1 + \lambda \overline{w}_1^p = \underline{K} \cdot \overline{w}_1^{-\alpha} \le 0 \le \overline{K} \underline{v}^{-\alpha} = \triangle \underline{v} + \lambda \underline{v}^p, \quad \text{in } \Omega$$

and

$$\boldsymbol{n} \cdot \nabla \overline{w}_1 + g(\overline{w}_1)\overline{w}_1 = 1 \ge 0 = \boldsymbol{n} \cdot \nabla \underline{v} + g(\underline{v})\underline{v}, \text{ on } \partial\Omega,$$

Lemma 3 guarantees that $\underline{v} \leq \overline{w}_1$ in Ω because $\frac{\lambda s^p}{s}$ is a strictly decreasing function for $s \in (0, \infty)$. Therefore, by Lemma 1, there exists a minimal solution u_1 satisfying problem (41) for k = 1 with $\underline{v} \leq u_1 \leq \overline{w}_1$.

It is easy to see that u_1 satisfies

$$-\triangle u_1 + K(x)(u_1)^{-\alpha} \ge -\triangle u_1 + \underline{K}(u_1)^{-\alpha} = \lambda u_1^p, \quad \text{in } \Omega,$$
$$n \cdot \nabla u_1 + g(u_1)u_1 = 1 > \frac{1}{2}, \quad \text{on } \partial\Omega,$$

which implies that u_1 is a supersolution of (41) for $k = \frac{1}{2}$. For $k = \frac{1}{2}$, \underline{v} is a subsolution of the problem (41). Lemma 1 guarantees the minimum solution u_2 of the existing problem (41), meeting $\underline{v} \le u_2 \le u_1$.

Repeating the process, we can obtain a solution sequence $\{u_k\}$ such that

$$\underline{v} \leq \cdots \cdots \leq u_k \leq u_{k-1} \leq \cdots \cdots \leq u_1 \leq w_1, \tag{42}$$

where u_k satisfies problem (41) for $k \ge 1$.

Second, we consider the property of $\{u_k\}$ defined in (42).

The monotonicity and boundedness of $\{u_k\}$ guarantee that there exists a positive solution *u* such that

$$\lim_{k\to+\infty}u_k(x)=u(x)\geq\underline{v}(x), x\in\overline{\Omega}$$

A standard argument in [10] shows that for each bounded $\Omega_1 \subseteq \Omega$ with $C^{1,\beta}$ -boundary,

$$\lim_{k \to +\infty} u_k(x) = u(x), \text{ uniformly for all } x \in \overline{\Omega}_1,$$

which implies that $u \in C^2(\Omega)$ satisfies that

$$-\bigtriangleup u + K(x)u^{-\alpha} = \lambda u^p, \ x \in \Omega.$$
(43)

Moreover, from the boundedness of $\{u_k(x)\}$ on $\partial\Omega$ and $\mathbf{n} \cdot \nabla u_k + g(u_k)u_k = \frac{1}{k}$ on $\partial\Omega$, we know that $\{\mathbf{n} \cdot \nabla u_k\}$ are bounded on $\partial\Omega$, which, together with $\lim_{k \to +\infty} u_k(x) = u(x)$ on $\partial\Omega$, guarantees that

$$\lim_{k \to +\infty} \mathbf{n} \cdot \nabla u_k(x) = \mathbf{n} \cdot \nabla u(x) \text{ and } \lim_{k \to +\infty} \frac{1}{k} = 0, \text{ uniformly on } \partial \Omega$$

Thus,

$$\boldsymbol{n} \cdot \nabla \boldsymbol{u}(\boldsymbol{x}) + g(\boldsymbol{u}(\boldsymbol{x}))\boldsymbol{u}(\boldsymbol{x}) = 0, \text{ on } \partial\Omega.$$
(44)

Combined (43) and (44), we know that *u* is a positive solution of problem (1) for $\lambda > \lambda'$.

(ii) For above $\lambda' > 0$, let $\lambda' < \lambda_1 < \lambda_2$. Theorem 1 implies that, for any λ_i , the following problem

$$\begin{cases} -\triangle v + Kv^{-\alpha} = \lambda_i v^p, & \text{in } \Omega, \\ v > 0, & \text{in } \Omega, \\ \boldsymbol{n} \cdot \nabla v + g(v)v = 0, & \text{on } \partial \Omega \end{cases}$$

has a maximal solution v_{λ_i} with $v_{\lambda_1} \leq v_{\lambda_2}$ for $\lambda_1 < \lambda_2$. Similarly, Theorem 2 implies that for any λ_i , the following problem

$$\begin{cases} -\triangle v + \underline{K}v^{-\alpha} = \lambda_i v^p, & \text{in } \Omega, \\ v > 0, & \text{in } \Omega, \\ n \cdot \nabla v + g(v)v = 1, & \text{on } \partial \Omega \end{cases}$$

has a unique positive solution w_{λ_i} with $w_{\lambda_1} \le w_{\lambda_2}$. Obviously, v_{λ_i} and w_{λ_i} are subsolution and supersolution of $P_k(\lambda_i)$ as follows

$$\begin{cases} -\triangle u + K(x)u^{-\alpha} = \lambda_i u^p, & \text{in } \Omega, \\ n \cdot \nabla u + g(u)u = \frac{1}{k}, & \text{on } \partial \Omega \end{cases}$$
(45)

respectively. According to the proof of (i), for λ_1 , there exists $\{u_{\lambda_1}^{(k)}\}$ such that

$$v_{\lambda_1} \leq \dots \leq u_{\lambda_1}^{(k)} \leq u_{\lambda_1}^{(k-1)} \leq \dots \leq u_{\lambda_1}^{(1)} \leq w_{\lambda_1}$$
$$u_{\lambda_1}(x) = \lim_{k \to +\infty} u_{\lambda_1}^{(k)}(x), x \in \overline{\Omega}$$

and

where $u_{\lambda_1}^{(k)}$ is a minimal solution of problem (45) for $k \ge 1$ in $[v_{\lambda_1}, w_{\lambda_2}]$. For λ_2 , the same argument shows that there exists $\{u_{\lambda_2}^{(k)}\}$ such that

$$v_{\lambda_2} \leq \cdots \leq u_{\lambda_2}^{(k)} \leq u_{\lambda_2}^{(k-1)} \leq \cdots \leq u_{\lambda_2}^{(1)} \leq w_{\lambda_2}$$

and

$$u_{\lambda_2}(x) = \lim_{k \to +\infty} u_{\lambda_2}^{(k)}(x), x \in \overline{\Omega},$$

where $u_{\lambda_2}^{(k)}$ is a minimal solution of problem (45) for $k \ge 1$ in $[v_{\lambda_2}, w_{\lambda_2}]$. Since $u_{\lambda_2}^{(k)}$ satisfies

$$\begin{cases} - \triangle u_{\lambda_2}^{(k)} + K(x)(u_{\lambda_2}^{(k)})^{-\alpha} = \lambda_2 (u_{\lambda_2}^{(k)})^p > \lambda_1 (u_{\lambda_2}^{(k)})^p, & \text{in } \Omega, \\ n \cdot \nabla u_{\lambda_2}^{(k)} + g(u_{\lambda_2}^{(k)}) u_{\lambda_2}^{(k)} = \frac{1}{k}, & \text{on } \partial\Omega, \end{cases}$$

we know that $u_{\lambda_2}^{(k)}$ is a supersolution of problem $P_k(\lambda_1)$, which implies $u_{\lambda_1}^{(k)} \leq u_{\lambda_2}^{(k)}$ (note that $u_{\lambda_1}^{(k)}$ is a minimal solution in $[v_{\lambda_1}, w_{\lambda_2}]$) for each $k \geq 1$. Hence,

$$u_{\lambda_1} = \lim_{k \to +\infty} u_{\lambda_1}^{(k)} \le \lim_{k \to +\infty} u_{\lambda_2}^{(k)} = u_{\lambda_2}$$

for $\lambda_1 < \lambda_2$.

So u_{λ} is increasing with respect to λ , and the proof of Theorem 3 is now completed. \Box

4. Concluding Remarks

This article has a positive impact on the problem of thermal explosion in physics. For example, the left side of the first equation in problem (2) is the heat conduction equation, which is widely used in physics. Before our research, some articles discussed the existence

of positive solutions for our problem when the nonlinear term is nonnegative and is continuous at zero. In this paper, a new comparison method for an elliptic problem with a nonlinear boundary condition is designed. Based on our comparison theorem and sub-super method, we obtained the existence of the solution and the dependence of the solutions on parameters when the nonlinear term is sign-changing and singular at zero.

Author Contributions: Formal analysis, S.-Y.Y.; methodology, B.Y. Both authors have read and agreed to the published version of the manuscript.

Funding: This research was funded by the NSFC of China (62073203).

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: Not applicable.

Acknowledgments: The authors are thankful to the editor and anonymous referees for their valuable comments and suggestions.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. Frank-Kamenetskii, D.A. Diffusion and Heat Transfer in Chemical Kinetics; Plenum Press: New York, NY, USA, 1969.
- 2. Gordon, P V.; Ko, E.; Shivaji, R. Multiplicity and uniqueness of positive solutions for elliptic equations with nonlinear boundary conditions arising in a theory of thermal explosion. *Nonlinear Anal.* **2014**, *15*, 51–57. [CrossRef]
- 3. Lind, S.C. Chemical Kinetics and Chain Reactions; Oxford University Press: London, UK, 1935; Volume 41, p. 1150.
- 4. Zeldovich, Y.B.; Barenblatt, G.I.; Librovich, V.B.; Makhviladze, G.M. The Mathematical Theory of Combustion and Explosions. *Combust Flame* **1987**, *67*, 185–186.
- 5. Ko, E.; Prashanth, S. Positive solutions for elliptic equations in two dimensionals arising in a theory of thermal explosion. *Taiwan*. *J. Math.* **2015**, *19*, 1759–1775. [CrossRef]
- Rasouli, S. H. On a nonlinear system arising in a theory of thermal explosion. *Bol. Soc. Parana. Matemática* 2018, 38, 167–172. [CrossRef]
- 7. Shi, J.; Yao, M. On a singular nonlinear semilinear elliptic problem. *Proc. R. Soc. Edinb. Sect. A Math.* **1998**, 128, 1389–1401. [CrossRef]
- 8. Inkmann, F. Existence and Multiplicity Theorems for Semilinear Elliptic Equations with Nonlinear Boundary Conditions. *Indiana Univ. Math. J.* **1982**, *31*, 213–221. [CrossRef]
- 9. Zhang, Zhijun. On a Dirichlet Problem with a Singular nonlinearity. J. Math. Anal. Appl. 1995, 194, 103–113. [CrossRef]
- 10. Coster, C.; Habets, P. *Upper and Lower Solutions in the Theory of ODE Boundary Value Problems: Classical and Recent Results;* Springer: Vienna, Austria, 1996; pp. 1–78.